2 % 3001819 £47} obd 719

@® 11 @ 17 ® 23 @27 ® 29

300]8te] A4 2, 3, 5, 7, 11, 13, 17, 19, 23, 29 o]t}




ol
e
olJ

Nfo
,mo
el
ojn

oy

@) a5t 59 A7} 2 Aolck

B

@2 & §9% A5 Aot
® 7V He a4t 2ot 1

447} oh e,

o
—

oltt.
%1

J

o] 47} 1 7
Ze

CEEER

@1




TR Zoll gk Arolch. £4) 9Fe AL B 12w

15
-5.5, 4, +=, -2, 0, —
5.5, 4, +3, 1 0, -3

@A+ :4,0, =337

@ f84 (6 7H)

@ F fA5 14, +1 (@A)

@ &9 f84 ¢ -5.5, —Z, -3 (37h)

® 2l 1 4 (1 7H)




@ -2 ® +1

A4 o] dEd W, 9Ec 4R Fz 2w

~2,-3, 42, 1,43 Olek. webA] Al Aol e S 4 olc,

Wl o




Aoigko] 7 HeF A4S A4t obd 2L (B 270)

B9go 7 mog Fe F
—-6,-5,—4,-3,-2,-1,0,1,2,3,4,5,6 |t}
Aogto] 7 Bk 22 %7k obd 2L —9 9 —10 o]k,
et gL O, 67 Bt

2~
T

rr




ol
G
Al

2% gl

F oW 58 5 2 Wrgle o] izt

op

@ 2 ® 3 @ 4 ®)5

‘0s(%ﬂﬂ)<5

D1




D 30=22x3x5
® 80=28x10

® 200 = 2 x 102

Al

o

@ 140 =22x3%2x5

(@)60222X3x5

B

D30=2x3x5
@ 140 = 22 x5 %7
@80 =2*x5

® 200 = 23 x 52




S % a.b O AR 129 W, 0,59 FOO] ASE?

o1 @ ® 8 @12 Oxn




Q%9 HAFHETF 16 D 1), T AALY FejSE vp

=

=
HeE AL

® 1,2,4,8,16 @ 4,16,64,---
® 16,32,48 @ 4,8,16,32,---

@)16,32,48,64, -




A2

=

2
6

oo
Mo

=
K3

® 25=6

@ 3x3x3x3=3"=12
@2x2x7x7:22x72:4x49:196
@ 1 1 1

3x3x3x3 45 64
1 1 1

IX2X3x3xHx5 22x3x5 60

B

D23 =8
@ 3%x3x3x3=3*=81
1 11
3x3x3x3 3% 81
6 1 B 1 1
2x2x3x3x5x5  22x32x52 900




11. o8 H7] = Al A4 28 x 32 x 53, 22x 33 x 72, 24 x32x 11 9
T 2 IR

H7]

2x3, 2x32x5 22x3x5
22%x3%2, 22x3x7, 23x32

@ 174 @2711 ® 37 @ 474 ® 571

FArE A
A FoFE T3}

wreba] B7] Fofl Foi Al =9 FofeE 2x 3, 22 x 3 ot




12. M2 B2 A5 A, B, C D7 HSSWER W, 4, B, €. D 9 &
BAE vk ebd 29

o« A= & F 7 A

e B = 2ol

o A%} C = FAA YELH S o, dFE7IA] 9] A7t 2t
e D= B HT} 2T}

® A<B<C<D (DA<D<B<C

® A<C<B<D @ A<D<C<B

® D<B<C<A

S8 ~
o« A=l 5 F 7 A

e B= 29|tk = B<0

o A2t C = FAA YEHlE w, A7 o] ATt E
> A7}V AoBg B HO &2 £

ojtt.

e D=BHET AT = D<B

A<D<B<C




